Multiplizieren Sie Dezimalzahlen mit
Zehnerpotenzen

1,68 x 1000 =

10,251 x 1000 =

1,765 x 100 =

1,171 x 10 =

8, 049 x 10000 =

10, 864 x 100000 =

5, 82 x 10000 =

Datum: Ergebnis:

1,77 x 100000 =

9,394 x 1000000 =

4,996 x 10 =

4,295 x 100 =

5, 103 x 100000 =

10, 803 x 100000 =

10,798 x 10 =

9, 595 x 10000 =

8,787 x 10 =

8,755 x 1000 =

2,278 x 1000000 =

5,016 x 10 =

7,512 x 100 =
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%E% an. A B % Multiplizie;zr;l :elip Igteezrigzlzahlen mit
Name: Datum: Ergebnis: _____

1,68 x 1000 = 1680 1,77 x 100000 = 177000

10,251 x 1000 = 10251 9,394 x 1000000 = 9394000

1,765 x 100 =176.5 4,996 x 10 =49.96

1,171 x10=11.71 4,295 x 100 =429.5

8, 049 x 10000 = 80490 5, 103 x 100000 = 510300

10, 864 x 100000 = 1086400 10, 803 x 100000 = 1080300

5, 82 x 10000 = 58200 8,755 x 1000 = 8755

10,798 x 10 = 107.98 2,278 x 1000000 = 2278000

9, 595 x 10000 = 95950 5,016 x 10 =50.16

8,787 x 10 = 87.87 7,512 x 100 ="751.2
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